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[> diff(sin(5*x)+sin(x)*5,x);
5003(5x)+53in(x)4cos(x) (1.1)
B int(1/(x*sgrt(x*2-1)),x=1..infinity);
1
5T (1.2)
B plot3d([sin(x*y),x*3+y*3-3*x*y],x=-1..1,y=-1..1,color=[green,red]);
TTT T T I T I T TTTTT]
-2 -1 0 1 2
B f:=x->log(x)-2*x;
a:=unapply(diff(f(x),x),x);
x0:=3/2;
f2:=a(x0)*(x-x0)+f(x0);
plot([f(x),f2(x)],x=0..2);
f:=x—>|og(x)—2x
1
a=x—>—-2
X
] 3
1.0 x0:= %
[ > f:=x->log(sqrt((1+cos(x))/(1-cos(x)))); 4 3
evalf(f(Pi/4)); f2:=—5 x-1 +In[*J
3 2
1+cos(x) 0.0 0.5 1.0 1.5 2.0
f:=x—log W ]I||||I||||I||||I||||I
0.8813735865 (1.3)
L -2
v2 -3
[> fi=x->exp(x); 4
f2:=unapply(convert(series(f(x),x=0,3),polynom),x);
plot([f(x),f2(x)],x=-2..2); -
fi=x—e %
1
1‘2:=x—>1+x+§x2 |
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[ > restart;
x0:=5;
a:=sqrt(3);
fi=x->1/(a*2+(x-x0)"2);
plot([f(x),diff(f(x),x),diff (f(x),x,x)],x=0..10,color=[black]);
x0:=5

a:=\/§
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> solve(diff(f(x),x,x)=0,x);

6,4

v4
[> restart;

| with(LinearAlgebra):
[ > A:=Matrix(3,3,[[1,a,0],[a,2,al,[0,a,111);

(3.1)

(4.1)

B 1,V:=Eigenvectors(A);

1 a0

A=|a 2 a

0al

> solve(l[1]=3,a);

> solve(I[2]=0,a);

5

[ > n:=257;

forifrom 1 tondo

Mn:=2%i-1;

if (isprime(Mn)) then
print(i);

end if;

end do:

3 1
§+§ /1+8a
3 1 24
V= [ ,
—_— [1+84? 1T 1 1T 1
2 2 I I
[ 5+5 /1+8a2][2+2 /1+8a2]
1
24 2a
T 1 R :
[—§—§ /1+8a2] [§—§ /1+8a2] 5+5 [1+84°
2a
T 1 LOL [T, 1, 1]
—E—E /1+8a
(> 1011
3 1
§+§ /1+8a
> 1021;
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(4.3)

(4.4)

(4.5)

(4.6)
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